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95EAN | 85EAN | 7THEAN | 65EAN | 55EAN | 45EAN | 3FEA
(M) (M) (M) (M) (M) (M) (M) (M)

= % ™ 3,500 | 3,600,000 | 2,100,000 | 492,000 480,000 192,000 180,000 156,000
E F T 3,500 | 3,600,000 | 2,100,000 | 492,000 480,000 192,000 180,000 156,000
72 = ™ 3,500 | 3,600,000 | 2,100,000 | 492,000 480,000 192,000 180,000 156,000
mE W 3,500 | 3,600,000 | 2,100,000 | 492,000 480,000 192,000 180,000 156,000
x & ™ 3,500 | 3,600,000 | 2,100,000 | 492,000 480,000 192,000 180,000 156,000
A B ™ 3,500 | 3,600,000 | 2,100,000 | 492,000 480,000 192,000 180,000 156,000
Bm O E W 3,500 | 3,600,000 | 2,100,000 | 492,000 480,000 192,000 180,000 156,000
TiEFKT 3,500 | 3,600,000 | 2,100,000 | 492,000 480,000 192,000 180,000 156,000
B+ m 3,500 | 3,600,000 | 2,100,000 | 492,000 480,000 192,000 180,000 156,000
F Bm W 3,500 | 3,000,000 | 1,750,000 | 410,000 400,000 160,000 150,000 130,000
F £ 3,500 | 3,000,000 | 1,750,000 | 410,000 400,000 160,000 150,000 130,000
B O H 3,500 | 3,000,000 | 1,750,000 | 410,000 400,000 160,000 150,000 130,000
= 3 5 AT 3,500 | 3,000,000 | 1,750,000 | 410,000 400,000 160,000 150,000 130,000
H % §r 3,500 | 3,000,000 | 1,750,000 | 410,000 400,000 160,000 150,000 130,000
% M|l 3,500 | 3,000,000 | 1,750,000 | 410,000 400,000 160,000 150,000 130,000
i 3,500 | 3,000,000 | 1,750,000 | 410,000 400,000 160,000 150,000 130,000
E B M 3,500 | 3,000,000 | 1,750,000 | 410,000 400,000 160,000 150,000 130,000
= B # 3,500 | 3,000,000 | 1,750,000 | 410,000 400,000 160,000 150,000 130,000
A Wi H 3,500 | 3,000,000 | 1,750,000 | 410,000 400,000 160,000 150,000 130,000
X 2 B 3,500 | 3,000,000 | 1,750,000 | 410,000 400,000 160,000 150,000 130,000
T & H 3,500 | 3,000,000 | 1,750,000 | 410,000 400,000 160,000 150,000 130,000
X o # 3,500 | 3,000,000 | 1,750,000 | 410,000 400,000 160,000 150,000 130,000
L o H 3,500 | 3,600,000 | 2,100,000 | 492,000 480,000 192,000 180,000 156,000
1= = NIl BT 3,500 | 3,000,000 | 1,750,000 | 410,000 400,000 160,000 150,000 130,000
= R 3,500 | 3,000,000 | 1,750,000 | 410,000 400,000 160,000 150,000 130,000
£ Nl HT 3,500 | 3,000,000 | 1,750,000 | 410,000 400,000 160,000 150,000 130,000
Bo& HT 3,500 | 3,000,000 | 1,750,000 | 410,000 400,000 160,000 150,000 130,000
¥® R H 3,500 | 3,000,000 | 1,750,000 | 410,000 400,000 160,000 150,000 130,000
BH & # 3,500 | 3,000,000 | 1,750,000 | 410,000 400,000 160,000 150,000 130,000
2 OH OH 3,500 | 3,000,000 | 1,750,000 | 410,000 400,000 160,000 150,000 130,000
N 5+ HT 3,500 | 3,000,000 | 1,750,000 | 410,000 400,000 160,000 150,000 130,000
X A W 3,500 | 3,000,000 | 1,750,000 | 410,000 400,000 160,000 150,000 130,000
= B’ # 3,500 | 3,000,000 | 1,750,000 | 410,000 400,000 160,000 150,000 130,000
£ 8 3,500 | 3,000,000 | 1,750,000 | 410,000 400,000 160,000 150,000 130,000




TET# Ef N A
EANYER EABE | BEEESR| 28AM | TOM (A F B BHHER| mEas
28FEAN | 18EAN LT
(M) (M) (%) (%) (%) (%) (M) (M)

144,000 60,000 12.1 1.50 0.7 1.0 150 = ®M T
144,000 60,000 12.1 1.50 E F W
144,000 60,000 12.1 1.40 0.7 1.0 150 72 = ™
144,000 60,000 12.1 1.40 0.7 1.2 150 mE W
144,000 60,000 12.1 1.50 0.7 1.0 150 *r & ™
144,000 | 60,000 12.1 1.50 0.7 1.0 A g ™
144,000 60,000 12.1 1.40 0.7 1.0 ' £
144,000 60,000 12.1 1.40 150 TiEF KT
144,000 | 60,000 12.1 1.40 150 A+
120,000 50,000 9.7 1.40 0.7 1.0 150 F Bm W
120,000 50,000 9.7 1.40 0.7 1.0 150 F £
120,000 | 50,000 9.7 1.40 B OF H
120,000 | 50,000 9.7 1.40 0.7 1.0 = ¥ F H
120,000 | 50,000 9.7 1.40 0.7 1.0 150 B % H
120,000 | 50,000 9.7 1.40 0.7 1.0 F5EER |2 B
120,000 50,000 9.7 1.40 0.7 1.0 | 50(3%150) i N #
120,000 | 50,000 9.7 1.40 0.7 1.0 E B M
120,000 50,000 9.7 1.40 150 | % Ll & #
120,000 | 50,000 9.7 1.40 0.7 1.0 150 A W H
120,000 | 50,000 9.7 1.40 0.7 1.0 X 2
120,000 50,000 9.7 1.40 0.7 1.0 T & Hr
120,000 50,000 9.7 1.40 0.7 1.0 X Nl #
144,000 | 60,000 12.1 1.40 0.7 1.0 150 (AN ORI}
120,000 | 50,000 9.7 1.40 0.7 1.0 150 = & Nl BT
120,000 50,000 9.7 1.40 0.7 1.0 150 bt £ Hr
120,000 | 50,000 10.6 1.40 0.7 1.0 150 £ N H
120,000 | 50,000 10.4 1.40 0.7 1.0 150 #Mo%0 H
120,000 | 50,000 9.7 1.40 0.7 1.0 150 B R H
120,000 | 50,000 12.1 1.40 0.7 1.0 B & #
120,000 | 50,000 9.7 1.40 0.7 1.0 150 b= |
120,000 | 50,000 9.7 1.40 0.7 1.0 150 m 7+ BT
120,000 | 50,000 10.4 1.40 0.7 1.0 150 X B W
120,000 50,000 9.7 1.40 = R’ #
120,000 | 50,000 10.4 1.40 £ # H
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